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Steppingstone activity
Lesson 3
LO: To multiply 2 digit numbers by 2 digit numbers
Success Criteria:
	1. Layout your multiplication accurately (brackets in line with answers)

	2. Multiply the top 2 digit number by the units first

	3. Multiply the top 2 digit number by the 10’s remembering to add a ‘0’ as a placeholder

	4. Add the two amounts together to form an answer.

	5. Layout your multiplication accurately (brackets in line with answers as in last example))
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Year 5 Maths   
Lesson 3
LO: To multiply 3-digit numbers by 2-digit numbers
Task:
You are going to continue practising multiplying! 
Success Criteria:
	1. Layout your multiplication accurately (brackets in line with answers)

	2. Multiply the top 3 digit number by the units first

	3. Multiply the top 3 digit number by the 10’s remembering to add a ‘0’ as a placeholder.

	4. Add the two amounts together to form an answer.

	5. Layout your multiplication accurately (brackets in line with answers)
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Make sure all your answers are in the correct columns!!!

Year 5 Maths
Main activity Lesson 3
Using the same method try these problems – remember to show your working out to prove your answer!
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Farmer Ron has a field that measures 53 m long and
25 m wide.

Farmer Annie has a field that measures 52 m long and
26 m wide.

Dora thinks that they will have the same area because
the numbers have only changed by one digit each.

Do you agree? Prove it.
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Pencils come in boxes of 64
A school bought 270 boxes.
Rulers come in packs of 46
A school bought 720 packs.

How many more rulers were ordered than pencils?

SAMNUULUMMULLUULULILULY




image9.png
(132 x 4)
(132 x 10)




image10.png
[22x|||=2442 )

[23x|||=2553 ]

[24x|||=2664 ]

What do you think the answer to 25 x | | | will be?
What do you notice!?

Does this always work?
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* The 4 digits being multiplied by 5 are consecutive
numbers.

* The first 2 digits of the product are the same.

* The fourth and fifth digits of the answer add to
make the third.
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